
OPERATION/MAINTENANCE 
MANUAL 

C-2 BANTAM GUN 





C-2 BANTAM GUN PRO WELD 

TABLE OF CONTENTS 
 
1.0 INTRODUCTION 1 
 
2.0 WARRANTY 1 
 
3.0 SUGGESTED SAFETY PRECAUTIONS 1 
 
4.0 THE CD WELDING PROCESS 2 
 
5.0 GUN SET-UP 2 
 
6.0 WELDABLE MATERIAL COMBINATIONS 4 
 
7.0 CAUSES OF POOR OR ERRATIC WELDS 5 
 
8.0 TROUBLE SHOOTING POOR WELDS 5,6 



C-2 BANTAM GUN PRO WELD 



C-2 BANTAM GUN PRO WELD 



C-2 BANTAM GUN PRO WELD 



C-2 BANTAM GUN PRO WELD 



C-2 BANTAM GUN PRO WELD 
1.0 INTRODUCTION 
 Your new stud welding equipment is carefully 
constructed of the finest components and materials 
available. Used properly, this equipment will give 
you years of profitable, efficient service. 
 The system incorporates the latest in engineer-
ing advances, for completely reliable end welding of 
mild steel, stainless steel, aluminum and lead free 
copper and brass fasteners. 
 A careful study of this manual will enable you 
to understand how the welder operates to insure 
proper performance under all operating conditions. 
 
2.0 WARRANTY 
 The electrical and mechanical components of 
the stud welder are thoroughly performance in-
spected prior to assembly in the welder. The assem-
bled welder is completely performance checked. The 
welder is delivered to you in functional electro-
mechanical condition. 
 All parts used in the assembly of the welder 
and its accessories are fully warranted for a period of 
ninety (90) days from the date of delivery. In addi-
tion, the welding capacitors are warranted for a pe-
riod of one hundred twenty (120) days from the date 
of delivery. 
 Under the warranty, the manufacturer reserves 
the right to repair or replace, at their option, defec-
tive parts which fail during the guarantee period. 
Notice of any claim for warranty repair or replace-
ment must be furnished to the manufacturer by the 
purchaser within ten (10) days after the defect is first 
discovered.The manufacturer does not assume any 
liability for paying shipping cost or any labor or ma-
terials furnished where such cost are not expressly 
authorized in writing. 
 The manufacturer does not warrant any parts or 
accessories against failures resulting from misuse, 
abuse, improper installation, maladjustment, or use 
not in accordance with the operating instructions fur-
nished by the manufacturer. The warranty is valid 
only when studs are purchased from sources ap-
proved by the manufacturer or are of identical speci-
fications to the manufacturer’s 

3.0  SUGGESTED SAFETY PRECAU-
TIONS 
 In any welding operation, it is the responsibil-
ity of the welder to observe certain safety rules to in-
sure his personal safety and to protect those working 
near him. 
 Reference is directed, without endorsement or 
recommendation, to ANSI Z49.1, Safety in Welding 
and Cutting, and to AWG Publication A6,1-66, Rec-
ommended Safety Practices for Gas-Shield Arc Weld-
ing.  
 1. Always treat electricity with respect. Under 
 open circuit conditions, the welding machine 
 output voltage may be dangerous. 
  
 2. Don’t work on live circuits or conductors. 
 Disconnect the main power line before check-
 ing the machine or performing any mainte-
 nance operations. 
 
 3. Be sure the welding machine cabinet is 
 properly grounded to a good electrical ground. 
 
 4. Don’t stand in water or on a damp floor 
 while welding or weld in the rain. Avoid wear-
 ing wet sweaty cloths when welding. 
 
 5. Don’t operate with worn or poorly con-
 nected cables. Don’t operate weld gun with 
 loose cable connections. Inspect all cables fre-
 quently for insulation failures, exposed wires, 
 loose connections, and repair as needed. 
 
 6. Don’t overload welding cables or continue  to 
 operate with hot cables. 
 
 7. Don’t weld near flammable materials or liq-
 uids, in or near atmospheres, or on ducts carry-
 ing explosive gases. 
 
  

Page  1 



C-2 BANTAM GUN PRO WELD 

Standard Gun Setup 

 8.  Don’t weld on containers which have held 
 combustible or flammable materials, or on ma-
 terials which give off flammable or toxic va-
 pors when heated, without proper cleaning, 
 purging, or inerting. 
 
 9. Be sure to provide for proper ventilation 
 when welding in confined spaces. 
 
 10. Never look at the electric arc without wear-
 ing protective eye shields. 
 
 11. Always use the proper protective clothing, 
 gloves, ect. 
 
 12. Never strike an arc when near a bystander 
 who is unaware of the dangers of ultraviolet 
 light on their eyes. 
 
4.0 THE CD WELDING PROCESS 
 Contact welding is the simplest and most 
common method of CD stud welding. Practically 
foolproof, it produces no reverse side marking in 
most cases and is suitable for most commercial and 
industrial applications. 
 First, the gun must be set-up with the proper 
accessories for the length and diameter stud you are 
going to weld. Refer to the CD Accessories Guide 
and CD Stud Welding Gun Section for information 
on accessories and gun set-up. 

Initial Contact During Weld 

Forced Into Molten Pool After Weld 

1 2 

3 4 

 The stud is first placed in contact with the 
base material (SEE FIGURE 1). Verify that the gun is 
held perpendicular to the work. Pulling the trigger 
discharges the capacitors through the stud which va-
porizes the tip. The proper tip design is critical. This 
is what determines the length of time of the weld. An 
arc is briefly sustained which melts the stud base sur-
face and the work surface directly underneath the 
stud. The spring pressure in the gun then forces the 
stud into the molten pool, completing the weld in ap-
proximately six milliseconds. 
 
5.0 GUN SET-UP  
 
5.1 STANDARD (see pic below) 
 
 The standard gun set-up is used for welding the 
majority of applications. It consists of the standard 
adjustable face plate, two legs, a foot, chuck, stop, 
and spring for your specific stud size. 
 
 A step-by-step explanation of the correct way to 
set-up and operate the standard CD gun. 
 
 To prepare for stud welding, it is necessary to 
have the proper accessories for the stud to be welded. 
Those required are the legs, footpiece, spring, chuck, 
and appropriate screws and washers 

(CONTACT CD WELD) 

Page  2 



C-2 BANTAM GUN PRO WELD 
 For CD welding, the stud normally should be 
engaged for all but 1/4” of its length, whenever pos-
sible. Selecting the proper stop will accomplish this 
for you. The objective of the chuck is to maintain a 
firm grip on the fastener to assure correct alignment 
and a good electrical connection, yet allow for ease 
of loading. 
 
 Once the selection of the correct accessory is 
made, assembly may begin. The footpiece is 
mounted on the legs using 1/4-20 x 1 1/4 screws, 
inserted through the holes at the base of the foot-
piece. These holes are recessed so that the head of 
the screws will not protrude. 
 
 After assembling the legs and footpiece, insert 
the chuck into the open end of the gun shaft. Locate 
the legs, with footpiece attached, in the 

holes provided in the gun faceplate. (It may be nec-
essary to back off the socket screw in the faceplate 
to allow the legs to enter the hole). Center the open-
ing of the footpiece around the weld end of the fas-
tener. Tighten the footpiece in position at this time. 
Adjustment for the plunge which is the distance the 
stud protrudes beyond the end of the footpiece can 
now be made. This is done by loosening the two set 
screws at the bottom of the faceplate using the Allen 
wrench. Then sliding the legs for proper adjustment. 
Refer to the set-up chart for correct plunge distance 
(from 1/8” to 5/16”). 

NOTE: 
Correct set-up on all CD units is 1/8”- 5/16” plunge. 
This must be assured for proper weld results in all 
cases. 
 
 The gun is now ready to weld. Select the 
proper setting for the size stud to be welded. Voltage 
is determined by the weld base diameter. Be sure 
your power source is set for the proper polarity: 
straight for steel, reverse for galvanized. 

Page  3 



C-2 BANTAM GUN PRO WELD 
6.0 WELDABLE MATERIAL COMBINATIONS 
 
 BASE MATERIAL     STUD MATERIALS 
 
 Mild Steel (1008-1018)    Mild Steel 1008, 1018 
        Stainless Steel 304, 305 
        Brass 65-35, 70-30 
        Copper, Silicon/Bronze 
 
 Galvanized Sheet (duct-”Q” Decking   Mild Steel 1008-1018 
        Stainless Steel 304,305 
 
Structural Steel (Must Be Clean)    Mild Steel 1008,1018 
        Stainless Steel 304,305 
        Brass 65-35, 70-30 
 
Aluminum – Most alloys of the    Aluminum 1100,5356 
1100, 3000 and 5000 series. 
 
 
Zinc Alloys (Die Cast)     Aluminum 1100, 5356 
 
Medium Carbon Steel (1030-1018)    Mild Steel 1008, 1018 
        Stainless Steel 304,305 
        Brass 65-35, 70-30 
 
Lead Free Brass      Mild Steel 1008, 1018 
Lead Free Rolled Brass     Stainless Steel 304, 305 
Electrolytic Copper      Copper, Silicon/Bronze 

Page  4 



C-2 BANTAM GUN PRO WELD 
7.0 CAUSE OF POOR OR ERRATIC 
WELDS 
 
1. Loose collet. Does not grip stud tightly.
(REPLACE) Not enough engagement of stud to col-
let. (CHANGE STOP) 
 
2. Fault or loose ground connection. (REPAIR OR 
TIGHTEN) 
 
3. Poor surface condition of base material, excessive 
oil, grease, rust, ect. (CLEAN) 
 
4. Voltage or capacitance setting too low or too high. 
(ADJUST TO DIAMETER OF STUD) 
 
5. Broken or loose cables. (REPAIR) 
 
6. Dirt in gun. (CLEAN) 
 
7. Incorrect polarity. (CABLES HOOKED-UP 
WRONG) 
 
8. Use of center punch or deep scribe. (DO NOT 
USE CENTER PUNCH OR DEEP SCRIBES) 
 
9. Cables too closely coiled. 
 
10. Arc blow is evidenced by “one side” welds. In 
severe cases there will be no melting under one edge 
of flange while the opposite side is gouged out or 
appears excessively hot. The principle cause of arc 
blow is magnetic field induced by the current flow 
during the weld. It occurs most often on long, nar-
row strips of metal or near edges of sheets or plates. 
In some cases, a change in grounding positions, or 
two grounds on the work piece, one at each end or 
edge of work, will correct the problem. For assis-
tance in severe cases, contact your local sales repre-
sentative. 
 
11. Incorrect plunge setting. (ADJUST TO PROPER 
SETTING) 

12. Incorrect spring. (REPLACE WITH PROPER 
SPRING) 
 
13. Poor stud quality. 
 
8.0 TROUBLE SHOOTING POOR 
WELDS 

Weld too Hot 

Weld too Cold 

Weld too Hot 
 

A) Decrease voltage. 
B) Decrease capacitance. 
C) Increase stud protrusion. 
D) Increase spring pressure. 

Weld too Cold 
 
A) Increase voltage. 
B) Increase capacitance. 
C) Decrease stud protrusion. 
D) Decrease spring pressure. 

Page  5 



C-2 BANTAM GUN PRO WELD 

Weld without footpiece 

Arc Blow 

Arc Blow 
 

A) Use double grounds. 
B) Ground too close or not spaced 
evenly. 

Weld without footpiece 
 
A) Use standard footpiece. 
B) Use template adapter. 
C) Use tripod blunt legs. 

Good Weld 

Page  6 



C-2 BANTAM GUN PRO WELD 
C-2 BANTAM CD WELDING GUN 

PART # 300-0301 

ITEM DESCRIPTION  PART NO. 
 
 1 BELLOWS RETAINER  001-816 
 2 BELLOWS   003-499 
 3 10-24 X 1/2 SOCKET CAP SCREW   
 4 FACE PLATE ASSY (TWIN LEG)   003-500 
 5 5/16-18 X 1-3/4 SET SCREW   016-405 
 7 SPINDLE ASSY (TAPERED CHUCK)  015-805 
 8 GUN BODY   016-383 
 9 MAIN SPRING SILVER   001-800 
 9A MAIN SPRING BLACK   001-801 
 9B MAIN SPRING RED   001-802 
 10 SPRING PLUG   022-357 
 11 BACK CAP   015-803 

ITEM DESCRIPTION  PART NO.
  
 12 10-24 X 3/4 SOCKET CAP SCREW   
 13 HANDLE COVER  016-384 
 14 WELD CABLE ASSY (25FT)  015-793-25 
 15 CONTROL CABLE ASSY (25FT)  015-809-25 
 16 HANDLE POST NUT  002-906  
 17 TRIGGER SWITCH  015-807  
 18 5-40 X 5/8 PAN HEAD SCREW   
 19 TRIGGER BUTTON  006-586  
 20 5/16-24 X 5/16 SET SCREW   
 21 FACE PLATE BUSHING  003-501  
 22 INTERNAL WELD CABLE  602-056B  
 23 CABLE MOUNTING LUG  029-039  

Page  8 



WELD PRO 
MANUFACTURED BY 

 MADE IN THE U.S.A. 


